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Which of the following models makes the assumption of constant s

aving income ratio ? QP10
: del r '
@)/Flarrod Do:alr mode p (B) Leonteif model ‘E?'%&
(C) Kaldor mode (:3 (D) John Robinson model
@., Ik & Tean faeg weit B g O
—.
ﬂ (A) T 8 | (B) o=t @ % (C) frman & (D) & A
The lowest point in the business cycle is referred to as the
. (A) Peak (B) Boom (C) Expansion Vﬂﬁ Trough
o
£.3
33. =HFH I TSI AT mmﬁmﬁmgﬁmﬁ%ﬁamﬁwﬁwqﬁm% ?
(A) == (B) Ifs®w 2 (©) WRuw (D) EEATHH
=
What t_ype .oi unemployment has not been%i_;aiysed ‘t;?eynes Employment and Income theory ?
v (A) Disguised (B) lnvoluntaryég ) Voluntary % (D) Structural
P )
@ HAUHAE GRS W 1 g e weaiia Rear 2
(A) St Wi N (B) TeH fom
(C) " 3 (3. greem) % (D) T MR T
’ S
Who has introduced the principle of maxim:L_!:m social advantage ?
(2) Franco Modigliani : (B) Adam Smith
\(/ Hugh Dalton (Dr, Dalton) % (D) Sir Arthur Lewis
B O
(A) mﬂm I . R TIEH
() TR e B ;
- W (D) Tafvma frso
E%;g‘ Which is not way of Protectionism 2 —
(A) QI.IDtas Cj .
 (C¥Excise Duty 0 (8) Tarif
\ : o0 (D) Exchange control
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(C) Econometrics o>y

/ I
@ (A) T e &
(C) e W& % 49 % | =y f‘;

To whom the yellow card is issued 72 —*

O o

(A) To govemment employee
ﬂ People below the poverty line

-
T
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(B) Developmental Economics

Jﬁf Welfare Economics

(8) vftrer/SiiER F
(D) TR I

(B) To landlords
(D) Toshopkeeper

A W AT I G T H R w0 e §, WA FOESA D

(A) 3rseaer U i =
(C) ===l ¥g W B are wt F W

(B) Ty WHOT T SHTRoT
(D) FH I Fl T FET

If the government wishes to increase s_t_Qijregate demand by tax measures, it could

(A) Increase indirect taxes f.';_;;_
(C) Cut children allowances 4

B 2 ST 1 I9E & .
(A) GG =8 el &
(C) Fet | § T FAT -

\T&)&-/K(e_vnesian remedy for unemployment is to
nc

= oy
rease govemment spending 0

(C) Decrease aggregate demand ()

40. wafg i A A FHA 2 I
(A) TF Tte] IN9G aaz: . &

F |

(C) I T iGEaRd S
Econgmic growth can be measured bY;
‘Af)c;:;.P. 2

(@)

(C) The C.P.l

090

(B) Tax travel abroad

{\El}/ Reduce income tax

(D) Tt Smitr o Frdm & et sy

(B) Reduce tax rate or lower interest rate

(B) ¥ Y1 T ¥ g
) mmm%m

(B) The W.P..
(D) MPC.
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/ (A) e L0 (B) ym R Al
(C) area f=e 4 (D) -1
Which of the following measures of dispersiaiﬁ_-éines not have a unit ?
(A) Range [‘r\ J + (B) Standard deviation
(C) Mean deviation J)f Coefficient of variation
(O
w@fmwﬁ@ﬁm%mmﬁdﬁﬁﬁmﬁﬁﬁﬁ?ﬁéﬁ E&;
(A) MR=MC W (8) AR=MR
(C) AC=MC & (D) P=AR=MR=AC=MC
In a perfectly competitive markel, a firm in th g"? ng run operates at the level of output where
(:} o Mg g;} ._;; SH A:IHMF{ AC=MC
) AC=M >
TRedg fafmg < it sgaeen % F=El, JaE aqe | gurEeH 6 S §
(&) T = Rt @ & (@) Pfwa g S v F
(C) 3y ¥ qigdT % Ry ,.3 (D) Hew W& 379§ IREds & g
Under the flexible exchange rate system, adj[ifé_tment of Balance of Payment is done
(A) By changes in price level ;‘E \(B){y: changes in exchange rates
' (C) By changes in income Y (D) By changes in price and income
@ memﬁmmm%mm?j |
(A) FH 8) fmm = (c) e (D) S T
Binomial distribution was developed by E
(A) Jacob (B) Fisher 20 (C) Marshall ‘,(Bﬂames Bernoull
T %GR i TN Rt 2
(A) T 7458 @ :_:'_".:I (B) YAz |
iy D TR S (0 T e @
[%:f: Vﬁm of vicious circle of poverty is as&crated with
Ragnar Nurkse ~,  (B) Schumpeter
(C) Kindleberger E: (D) Gunnar Myrdal
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(C) Wex = (B) TfEwH
S (0) Iea & ® S T 1///
i:m;;;e:tlenw distribution with open—endr_;asses which one of the following measure can t;a calculated }
(C) Mean C (ByMedian
(@) (D) None of the above
qﬁﬂﬁ“ﬁw@mﬂ?ﬁﬁqﬁmﬁaﬁqmmm? »)
(A) Shet T R 28t T Tum ) S 3 >

*f_:
(©) et feshan 2 (D) o, v Bt amie e MR FEd SO

Who among the following will bear the mE:-iaence of taxation if the demand of a commodity is
perfectly elastic ?

r‘P‘\
(A) The seller and the buyer both equally o0 (B) The buyer only

\)12‘)’ The seller only o)) (D) The seller will bear more than the buyer
M‘m # i A W
-
EAE 1. o ¥
m&’i’( =
Eets o i -
O
3. =hid 0
4, U= i
' & N ﬁiﬁf{ l
3 g g g 0 A O e SO
B S
&) 1303 = ©)1.2, 3304
() 1,233 = ©) 23 4
' . cogiwreinIndiais 7
Nalufe Gf unempioymenl n ﬂgﬂﬁu ul Cj'{
1. Frictinna!?‘ e
». Seasonal
3. Cydlical (_'[:3 ‘ )
4. Disguised r using code given below Qf &
Select the correct answe % l 0] ik
Code: —
(A) 1and3 % (B) 1'2-3ﬁnd4
(c} 1,2 and 3 h ‘.D) and 4


https://applink.adda247.com/d/XhqWf9lSap

Addai247 \

l GET IT ON
Google Play

@ g P & e 8 iR 1 R T 2 g
(A) P = A TR =g

. (B) ==l ¥ et
(C) SR 1 g /Hifia IMHR - (D) forgaft wrem/wwre E4E
In the theory of balance growth, basic ééuse of underdevelopment is E’l’%}
(A) Poor level of technology F:i: (B) Low savings '
\{9) Size of market small/limited & (D) Foreign dominance/Rule
_i’c Ardt A B T Reem T §HE 8, Weg A Soft w5 wurn mer B e R 1 3 Ioft A
T o
<1 forsr o Aeft B & . {__.,_uﬂ
(A) ® & &M — (B) & GHE BN O’U%
(©) A s Bm & (D) S5 & & = >
The standard deviation of two series ?‘ nd B is same, but the arithmetic mean of A series is greater
than B, Thus the co-efficient of variatio n of A series to B series will be f_.\l-,;,
(A (B) Equal @‘3
) Greater B (D) None of the above

-’ %

j/mﬁ@ﬂwﬁﬁwm%}ﬁﬂﬁm%
() el il & wedansht & -

& —

(a]ﬁﬁsﬁﬁﬁmaahﬁgmm;
(¢) faceh fafva ¥ Sifaw wien %o

(D) Taest Rl o ar=or foRamd "
EliE 0o
= A The objective of Forestalling in Internaﬂona! payment is

pas
._.f{Specuialwe in Foreign Exchange

(B) To protect Foreign Exchange riskéﬁ(l
(C) To accept Foreign Exchange risks 'y
) Transfer activities of Foreign Exchange ~L

el wEcER R
() G IEEFA HF G F O (®) afga Wifie Ieaewd
(C) T 3w F % (D) SRR R H

o
Wages are equal in perfect competition._
By value of marginal productivity g

(B) By average physical productivity
(C) By marginal revenue

'®)) (D) By subsistence level
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iy e
(c) T < A Ty ri‘?’, @) R TR TR
n WTO Doha round the main iy, % (D) =T A et digh T FfHH
Trade in services W

-

1)
57& Exports from Developing Nationg o8

& Mssues related to agricuiture@
j W@ HATTEA ST Y 2

0 (D) Trade related Intellectual Property Right

Rl
) X -ﬁ[ﬁ‘?ﬁm ¥ g 7
(C) FRUTE B % (B) €sH W%T
. S'of India is related with Bharatmala Project ? ::%i‘g_
(A) Rallways =2 v OF=3
© Pot Sectors > 48) Road it_.mfrastructure
(D) Telecom Sector
# ¥ 7R yrdex I
@*"ﬁ‘m T Ry fera i o fo T @ 7
(A) T Tete B STEwEar 2 @ TS R
(©) Eht Bt — (D) e <R v
/
Which of the following was given a central pidce by Schumpeter in his theory of development ?
(A) Need of balanced growth o (B) Role of governments
(C) Capital formation rm @zﬂﬂle of innovation
o S
-ﬁaﬂq-ﬁmmmﬁﬁﬁm ?
(n) T 3% S & T
(© () 3 @) SR o Uiy T H A R
EaE blic 7
%\-& Which one of the following is the Bank for thepu
= \!M/- (B) Central Bank
Commercial Bank
(C) Both (A) and (B)

(D) None of the above

Is
e A T S
\){ (A) ‘Eﬁiﬁ‘gﬁ% ) (B)WET% (G)ﬁﬂhaﬂﬁ (0) w0 A
=
Taritt policy is related to ) )
(A) Custom Duty \_[B‘ﬂmpbr‘l Tax “:_D) (C) Export Tax

@ All of the above

43

0130


https://applink.adda247.com/d/XhqWf9lSap

~ g k %
X

58 ﬁﬁﬁﬁh@@mi,ﬂ@“mﬁ?ﬁﬁﬁﬁﬁqm% 2B

(&) =T (8) I (C) wteTen e (D) Tk

When gross investment becomes, zero, lhen'ﬁ_hat prevents National Income to be zero 2
(A) Interest rate @) Consumption (C) Liquidity trap

\(g{lduﬂiplier
\f () + 5

3w e P S HTE TR 7

=ial=]
A
(A) IEIF (8) 3.3, :
(€) I g1 5 (D) 7. &,
Which one is not a part of World Bank'brg’ié_-fj\isation ?
(A) IDA :5 (B) IBRD
() F = (D) IFC

Ty
1L_; 4
-

e e o Bt i R - e o iR % e o & 7
(A) TTEAT IHEA W WIS TN T AN
(B) T T 3 ARG ¥ SIeq JuR -
(C) 3™ = | Tud Wi &=
(D) WTHT TR FEEHIST & fha sar

Which of the following items is classified as a capital receipt in the Budget for Govt. of India ?
(A) The dividends and profits received frorﬁfﬁpblic sector units Y&
\.GB{ The barrowing made by the government from the public
(C) Receipt from Income Tax (collection) 7~
(D) The interest receipts for loans given by

_.ﬁpvt. to its debtors )q‘
J/wg@ﬁagﬁnﬁﬁmmﬁqﬁ@%mmﬁmﬁ Tl

(A) a1 T iRar gEss = (B) ¥ TIHH

() P IR T 00

CO (D) 3T IEHEA A=W B
IoP40 ~
E]%’ai’. Amartya Sen noted Nobe! Laureate, has

(A) Squared Poverty Gap Index

d;velnped an Index known as
(B) Sen Index
\{}Y Poverty Gap Index &

M (D) Income disparity Gap Index

S—

62. .. ToW, s0p0% FTER, ¢ an;ﬁ WA 1 WHE fohm gaeis o

As pe —
per HDI Repon 2020, valud of Human Development Index for India in 2019 was
(A) 0.6778 N

06451 =3 (C) 0.7646 / (D) 0.5556
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(A) I T g i" ot
(C) favg ¥ G
Human Developm = ®) g
ent R ) :
\,.('(}\UNDF' ®port is PUblisheq h? (D) T TR AT AT ITITARTA T g
(C). World Bank Py
; S (B) IMF
= - (0) UNICEF
(&) T-fdg fig R s e 2, e d =
(©) T fag o B Esfeg -
. - D
The.paint where the total revenye fine (D) wge fag
Break-even point Crosses the total cost line is called
(C) Split off point r‘_‘; (B) Paint of inflection _
__J g e . =il
- (D) Equilibrium point
STHHEIAT T HER e 3 ’ \. ,/{ﬂ
% Time reversal test is satisfied when 4 l ‘\._..-/1{
(A) Pm x F',1{) >1 (B) Pm X P1u =:!E M" XPyy=1 (D) PgyxPyp<t
C:.

Y

Which value of money is known as value of a reserved money ?

wﬂﬁ-m@mmwwa%m% ?

LA
(A) M, (B) My SN (0) M
4 ™~
ﬁwﬁmﬁm%mmﬁmmj H Wi % o A
o) Rfw 3 — () T faf d
- D) ¥afg it anfie g
() fafam F w d S
tions are due to change in
i per. *FBYHBS"‘*“ theory, economic ﬂ”':t”aay -JB']’ Autonomous investment
ﬁ; gzgflﬁ::tment o 7(.?) Warranted rate of growth

o erer & a3 oy s 1 e T S e A e g2

Han & & M "
b o o FE
2 - arealsector COI:EI'J'iFhUliﬂn of National Income in India increased largely ?
In the recent years in which a ,:_‘F (B) Manufacturing Sector
Service Sector , (D) Agriculture Seclor
W

(C) Foreign Trade
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769, )it fiord S SreaeRTe § SAIRG S, % Rig s @ 3o dar 2 97 weard @
(A) Tl W & (B) W (C) ¥ = (D) =T &

£ )
Reserve Bank of India facilitates short term loan to Commercial Banks at interest is called

(A) Reverse repo rate @f Repo rate Z] (C) Bank rate (D) Interest rate
0 .
. T o & Y e, wa: Reh 2 g s 6 A s a2 2 Q)
(A) S AT W " a\:tfﬁ 5 (B) .34t # i

©) S Fum YV (o (D) &1 ¥ Thife gt BT
O §
In which of the following conditions, the policy of devaluation is generally applied by a country ? Eleh
(A) Higher unemployment rate “=-:' (B) Surplusin BOP {
g/ﬁ)eﬁc'rt in BOP oy (D) Inflationary conditions In the country
Qo
@)
ot gy wft ot 78 & wwd
(A) TH @ N BT z xP
(C) T 0 (D) TH § 5 4
Averpge propensity to consume can never be
More than one r:__f ;,(6/ Zero Ef,
(C) Positive ) (D) Less than one ~(
oo
@7&3 =7 3R TR W % € w5 a=w
(A) E<iZ "12T " (B) WEEI L 1 |
(C) TS =TT e (D) STufirs e
The difference between Revenue expendi:pt[:e and Revenue receipts is
(A) Budget deficit 45 (B) Fiscal deficit
(C) HAevenue deficit = (D) Primary deficit
0o
73. AR 3 FRR e & wry fee Yead Ty & Seped Fg R emm s A Y
(A) FTE.2E. A ard _‘ (B) 31753775 wE H wrege
(C) TS 3% 4.5 = (D) 31rE.ard A feweht
£ . i : =
E % Nokia has partnered with which institution to set up its centre of excellence in Networked Robotics 7
y CH
(A) IIT Bombay . (B) ISC Bengaluru
4C) IIT Madras & _{pf I Dl
' @)
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::?ch of the following arises due to techﬁulbgicaf advancement and innovation in an economy ?

) Structural unemployment
(C) Seasonal unemployment O

(B) Cyclical unemployment
(D) Disguised unemployment

@Rmﬁﬁtﬁﬁmﬁﬁ #1082, Sk R g srateea weeh S R, A ford d s fen

T 2 T @ ,
(A) T1 = afif oy = o
(©) sTewt =t ket fafr amm § R o

(B) 3o & %y Ty
(D) 3T W WY H g 6

Ei"E i ) - §
%:} If Rupee is getting depreciated fast and considered undesirable by the Gowt,, then RB| may be advised t
C o " sed to

(A) Print more currency notes )
y Sell dollars in Foreign exchange market

76,/ T WM Ft 37 W afE |, @ j
(A) F =R T =R o
(©) U F < F 791 T WRT
Ifincome elasticity of demand is more, t!'iiin'L.
(A) No taxation Pt

-~

(C) Increase the tax rates D

@h%ﬁm?ﬁmwﬁ? .
(A) = gRwal § wiEdT dar e )

(C) a3 awfafda w8 -
What are the assumptions of Law of Dem’dpd 7
(A) Changes in credit facilities ¥ oy

(C) Income remains unchanged .~ (0

1"'J

@.r cfife i T O A R |
() v TRy St = S
() F=a st = FR S

Stagflation is the combination of -

.,(Mﬁ High infiation and high unemp!uymena

i ment-
(C) High defiation and low unemploy s

Purchase dollars
(D) Raise tariffs on imports

[B}Eﬁﬁ;zﬁaﬁgﬁjﬁm
(D}Tﬁ"’lﬁa‘ﬁﬁﬁﬁg:@ R

v(gj- Decrease the tax rates :

(D} None of the aboye

@ﬁl Price of relateqd goods jg changed
(D4 Achange in taste ang Preferences

(B) I IR ot ey et
(0) 3T T J 3 oy o

(B) High Inflation and low

nem
(D) None of the abayg Ployment
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70/ fafer 29 & HY& T qed g I Sl @
' (B) &R@ swifa

R SUERE . |
(C) Tl Sl - (D) SEE P

E!#%l Main factor in growth of developed nations is '
® _

(A) Accumulation of capital
\(Vechnorcgical advancement

(B) Green revolution
(D) Population control

=
B~

yw;ﬁmmwma%? i

. = ¢
(A) TR (B) T = (C) WAt (D) 3TERe
The purple revolution is associated with the cd@aﬂcn of
(A) Almond (B) Rose - o \g/Lavender (D) Walnut
' Co
) @)
+ T i X ghar &
(A) AT 4 Ha AT @ 3G . (B) &
() Fma ’j (D) Suwa # A H &
A menopolist can determines :L\
4A) Either price or output . (B) Output
(C) Price 72 (D) None of the above
(A) Toceft =R =71 1oRs  (B) Trata i Rufa
(C) ¥ 6 feurfa GO (D) YT HgeT
The payment of foreign trade is related with *«Tﬂ
(A) The multiplier of Foreign Trade - —» (B) The merits of Export
(C) The merits of Import ) ’;‘:”:': /(D) Balance of Payment
@) B
83. I WA TEdl 7, Ol w1 U o TG TR MR E
]
(A) afEfda @m ‘L“ (B) =
() frem ;: (D) fTaa Bom
If prices increases, direct real burden of public{_chi:g'}bt will »
(5}/Unchange (@) {B) Rise
(8 @)
(C) Fall =~ (D) Uncertain

oS S
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Accarding to which |
one of th ; -~ o B 3
an pital formation 2 e following Economists, disguised unemployment can be a source of saving

) e ®) (C) R.Nurkse (D) Higgins

A

(A) I ¥ Pay ‘ _ =
A o (B) UK A R EgRE WA
(0) TERE i Ao f‘t; (D) areaTaty e F I T T H

-

Accelerator measures S
i —t
\'/ZEﬁeCt oninvesimentto constgtion @ (@)’ {E%Gromh rate of national income
(C) Effect on consumption to investment Qo TFLE'TEC‘ on consumption to short term production

@)]
\}(%ﬁﬁhﬁﬁqmﬁmmg i
(A) =9 freei fafa ‘—é:' (B) whr Freet fafty
(c) wrevy freiw fafy S (o) wE e Bed Tt .
Judgmental sampling is also known as a‘ Ej%&
(A) Extensive sampling g (B) Convenience sampling

\Mmcsive sampling 2 (D) Cluster sampling

—uisﬁmaﬁﬁnh%maﬁfﬁ%ﬁgmﬁﬁﬂa% Iy
A) TFIE & FUSL (B) 3= - (C) TA

axis implies that the efasticity of demand is

0

)

|

i d curve parallel to X-
The horizontal demand C z = oo i’ o
n

(

3

(A) Equaltoone

9

@@?ﬁmﬂ @® I~ (B) FEETH = 2 WIlEH +3 WA

(n) Eers = 3T ol W (p) T = 3 A ~2 O
() wgeTF = 2 i = g y=)

The alternative formula for calculating Mo ;:"f () Mode =2 Median +3 Me_an

V(AT Mode = 3 Median = o 50 D) Mode=3Mean~2Medan
n-23 Mean o)

— 2 Media
(€) Mode 0190 43


https://applink.adda247.com/d/XhqWf9lSap

Adda247

,quﬂéﬁqﬁwqﬂmﬁﬂﬂﬂﬁﬁh;uF

ethod is used for calculating Inflation in India ?

Which

(A) Fisher's Ideal Index
olesale Price Index .
sumer Price Index :;;

(D) Cost of Living Index of Wages —

(A) reor FfF H o (B) 7o g ST Y Y@ 4
(¢) i wfe S @ & (D) TmfioT @ e |

Swabhiman Scheme is associated with
(B) Rural Old People Care

(A) Rural Banking
Rural Women Rights !_- (D) Rural Food Security

frfafaq @w=al § 9 TE. T, aa:%ﬁ—rqaﬂq—ma'@r% ?
(A) 3T YT S T h WA
(B) T I Tt > A T F HA )
(C) T ! Wi T HE i Y & WA
(D) T it A T A W FAA s
D) Which of i :
gég ich of the following relationship is corre'.{:_:t' for the LM curve ?
(&,nghveen income and the rate of inlereg?;i
(B) Between demand for money and the r‘;lle of interest

(C) Between demand for money and supply of money
(D) Between supply of money and the rate: uf interest

T@ﬁﬁﬂmﬁﬁmﬁﬁi T
{;}Wﬂﬁﬁmﬁmmuﬁﬁﬂfﬁaﬁ {B}aqqa"ﬁmaﬁaﬂﬁuﬁr
T it H = (D) ST A & FE T

In the Bal )
o ﬂ;m :Ial::::mam Current Aomu;:fdeais with
mport of goods and sérvi
(C) Impont of goods and services %,3993 :g; Exmn i? t'hgn::: w
3 one of the above
G200
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93. )3H Hisw i vgeT it st W Hge A i 2
(A) Hi wiew (sew) GO (g i TR gisd (ITEY)
(C) RN Wiget (syw) = (o) Smes (519

Identify the model, which is concerned with the ‘Golden Age Equilibrium’.
(A) Keynesian model ¢ ,_Alguhn Robinson model

r
L

~

S,

/ (C) Kaldor model &P (D) Domar model

M=
94/ WM Y& W TE T I1E 8 B l‘ﬁ%&

o
(A) TSR 5 R T TS IS — HeTerarg
(B8) ﬂlﬂltiﬂﬂﬁ*ﬂmm—ﬁﬁﬁﬁm%m

(C) TR e T Thet U ITA0G — 3= I JTaH

(D) SR e W TFa T 391G - FTH°

The Net National Product at market price |5

(A) Gross National Product at market pnce Subsu:hes
(B) Gross National Product at market price ~ Net income from abroad
(C) Gross National Product at market price - Transfer payments

, \@/Gmss National Product at market pricg_f_;}fpepreciation,

o0
4 -
9s. ) Frfaftaa 7 & s -a1 T %1 TH 9g FEE AR ?

(A) T ggd T () s ww

N
. (C) WIEF &R E} (D) Irfea ot

A multidimensional measure of poverty includes which of the following ?

(A) Standard of living f’ (B) Education level
D D f the abow
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Robbin Hood effect is related to which of the tnllowmg 7 ‘
(A) Income redistribution ( Jj:: (B) Income generation
(C)#Income and cansumption %} (D) Proportionate tax
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What is the effect of deficit financing on ecnggﬁ'iy ? '
[ ~ Reduction in taxes
(A) Decrease in money supply ®)) (B) _
(C) Increase in wages 0 Mrease in money supply
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[ % Phillips curve is a relation between Y
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(A) Rate of unemployment and rate of change of money wages
(B) Rate of unemployment and rate of change of real wages
(C) Rate of change of employment and rate ﬂf change of real wages
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Total production is maximum when E_% 1 5
Marginal production is zero - —
(B) Average production is maximum ,‘Z‘-'f '
(C) Marginal production is maximum :

(D) Average production is equal to marginal ﬁ-rgducliun
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